201956 E KFHTRI=7Yvh—U—45 Hi#iATE

A B B B F — L = 3 = 5
18:00 FCIHY® 0 x 3 KFL=FFC V=Bl FCYZT

48138 | 1900 | OEBLGHFCITF 2 x 0 EMY=FFC ey | ST
20:00 S—H-Z7 1 x 1 wILRYHR EMS=7FC
18:00 KFFC 2 x 1 BFmE+#FC M-CLUB

4g208 | 19:00 M-CLUB 4 x 0 FCHY# KFEL=FFC (i’ffé‘)
20:00 KESZFPFC 1 x 3 UI=bLAMFCYZ7 FCITU&H
18:00 ZMI=—FPFC 0 x 1 Hhs—%.-2=7 KFFC

48278 | 19:00 EILRYHRX 0 x 2 KFEFC BrmE+#FC (i'ffé‘)
20:00 RFME+#FC 0 x 11 M-CLUB ZILRYIR
18:00 FCIHY &% X O f=bihFCY=7 KXFFC

5848 | 190 HE—H-L=F X  KFFC gme=7rc | 38
20:00 KFEL=FFC X ZM=7FC HhI—Y-2=7
18:00 RITME+#¥FC X KEL=FFC M-CLUB

5118 | 19:00 M-CLUB x VI=bEHFCYZ7 EILRYHR (‘i’ffé‘)
20:00 TILRYHYR X FCITY% U =biEhFCY=7
18:00 EILRYIR X M-CLUB LML =—FFC

5258 | 19:00 ZM=FFC X KFFC HhI—Y-2=7 (i'ffé‘)
20:00 HE—H-2=7 x BRFFmE+#FC KFFC
18:00 FCIHU®H x ZM=7FC KFEL=FFC

6A18 | 1900 KFL=FFC  x  hs—¥-v=7  |vksunrorr | 314
20:00 W=bEhFCY=T X EILRYIR HhI—H.2=7
18:00 KFEL=FFC X M-CLUB VD =biEhFCY=T

6A8H 19:00 D= MFCY=T x RTFMm+#FC FCIHU®H (i'ffé‘)
20:00 FCITYU&% X KFFC Rro+#FC
18:00 KFFC X M-CLUB EZILRYIRX

68228 | 19:00 KFEL=FFC X EILRYIR Rro+#FC (i'ffé‘)
20:00 ZM=7FC X Rrm+#FC KFE=FFC
18:00 ZM=7FC X TIRYHR Rro+#FC

6H298 | 19:00 FCIHY&% X Rrm+#FC M-CLUB (‘i’rl’é‘)
20:00 S—¥-0=7 X M-CLUB FCIHY&%
18:00 TILRYHR X Rrm+#FC S—H.2=7

7868 | 19:00 FOU® X  HE—-U=7F KxFFe | 35
20:00 V=B hFCY=7 X KFFC FCITU&
18:00 V=B FCY=T X HE—H-2=7F ZM=7FC

7138 | 19:00 ERM=FFC X M-CLUB KEL=FFC (i’rfé‘)
20:00 KFEL=FFC x  JKFFC M-CLUB




